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KNO, , CH,NH,Br, C;H,COONa , LiF

sl (NOS) ge¥l auany « KOH saclall (K) poudl jaao : KNO; ploll
. HNO,

0sI| j3ang « CHNH, saclall (CH,NH,) 9ol jomas : CH,NH.Br rloll

. HBr _aoexll (Br)
0sI| j3aog « NaOH saclall (Na¥) ysVl jaao : CH,COONa aloll
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KCN, LiBr, C;H.NHI , HCOONa , NaClO,

KCN , C.H.NHI , HCOONa :lgwoi leiligs as il )oY

: ol Jlgal]
:a)slsiog @2e 8y dran> | @Vl MY Julo coiol
KNO, , NH,NO, , LiCl , NaHCO, , C;H,NH,Br
43618 Mol NaHCO, g KNO, 1z MoVl

.dwan> Mol C;H,NH,Br ¢ NH,NO, :z)VI
.Jolsio o LiCl Lol
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Jolzo) PH dosd 8 NaHS wlall alo)l wlisl o alils areS adlo| il zos
. H,S ool

sladl o WS alodl ol H,S ciuriall jaoxdl Jolzo I NaHS alodl aslio] s
o3 OlpYl @iy o A aziig (HS) Jinall 0g2¥ 1S5 80L) ol Jass
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0.02 0,155 HNO, Jslxo oo 400 mL J] leislio] p 01 KNO, aloll aliS cawis
. 3.52 Jglxall pH dous pwad M

(85 g/mol) aloll algall aliSIl K, = 4.5x 10*, log 3 = 0.48 o Lake
alsleall 399 HNO, ciuriall jaoxll ol

HNO, + H,0 = H,0* + NO,
alsleall g99 KNO, aloll opl

NO, + K'-nm20 KNO,
:Jolzall DH aasd 3o HiO" 0gal juS 5 camns|
[H,0"]= 10" =10%? =3x 10* M

adVall (9 K, ansdy pssis ngll Osil 3155 paenll 5555 ost]

K, = [H30+] [NO2-][HNO2]

4.5%10" = 3 x 10-4 [NO2-]0.02

[NO,] =[KNO,] =0.03 M

(1) @Yo 338 cuuzl anzzy wlall j1555 os
n=MxV=0.03x0.4=0.012 mol

(M) ailiS cunl adgoll ailiSy mloll wYgo 328 (og
m=nxMr=0.012x8>=1.02¢g
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K, = 1.8 x 10° ol ke .NH,CI lg=log NH, sxclall
raboleall §99 NH; aaimiall saclall L-};_LU
NH, + H,O = OH + NH,"
alsleoll 399 NH,Cl alall bt
Cl + NH," =120 NH,Cl
:Jolzall PH dasd g0 H;0" 0sal juS 5 |
[H,O0'1=10"=10"=1x10"M

awnsSs gl Ol 31555 sl K, a8Ve s HiO™ 5uS 5 oy

[OH][H,0"]=1x10"K, =
[OH]=1x10"M
K, asle 8 Loocl
K, = [OH-] [NH4+][NH3]

1.8x10° =1x 10-4 [NH4+][NH3]
[NH3][NH4+]=1x10-41.8x10-5=15.5

el Jlgad]

15,3l NaOCl glolls HCIO jaaxll o 05Se Jslnal (azgnugll a8l cas|
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K, =3.5%x10°, log 3.5 = 0.45 i Lle
:alslrall §99 HCIO casriall jaoxdl ol
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HCIO + H,0 = H,0" + CIO
:a)slzall 399 NaOCI aloll ol
OCI + Na* -H20 NaOCl
K, asle sl
K, = [H30+] [ClO-][HCIO]

plially Jawdl o Lod 1S i widain 13 1o bgluio wlally jaaxdl 5uS 55 ol Lag
K, =3.5x10°=[H,0"]

pH = - log [H,0*] = - log (3.5x 10%) = 8 - 0.45 = 7.55
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